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( next (PC)

LET,

RENDDET,

next (EVENT)

i= case
PC=18& fg:I 5
R=181t=1:3
PC=2| PC= S H
) 5 TRUE © PC;
— N esac;
2
L -
TO—Fp—p ) ETLOI—F
next(STATE) ‘= case
STﬁTE 1 2 3 4 STATE 1 E A 3
EVENT STATE = 2 & EVENT =B : 4;
STATE = 3 & EVENT = B : 2;
A -3 —1 . STATE =4 : 1
—] TRUE : STATE
fe=0 | > Bzac;
B —4 |=2 |1 1% next(fg) := case
fe=1 fe=0 STATE = 2 L EVENT =B : 1
STATE = 4 : 0
TRUE © fg:
REEBE wwr

JRRRETBR

/

Alive \

entry/RTC::onlnitialize
exit/RTC::onFinalize

Stopped

ExecutionContext::start

exit/RTC:.onStartup

Inactive

ExecutionContext:activate_component

exit/RTC::onShutdown

ExecutionContext:stop

Active

e

ExecutionContext::deactivate_companent

[ReturnCode_t!=OK]/ RTC::onAborting

eniry/RTC::onActivate
exit/RTC::onDeactivate

7

Error )

do/RTC::onError

ExecutionContext:reset_component

Steady Error

[ReturnCode_t'=0K]

Resetting

[RetunCode_t=0K]
& entry/RTC::onReset )

x MERRRRRETOTT A

#include <stdio. h>

it Hyoji
int Kasoku_P
it Gensoku P

/BT K51 T

int indicate_state ( int Kasoku, int Gensoku )

int indicate_state( int Kesoku, int Gensok )
[

i Kasoku_flg:
int Gensoku._f1g;

i ((Kasoku == -1) 8& (Gensoku == -1)) [

1

if (Kasoku = -1) |
Gensoku_P = Gensoku:
return Hyoji

if (Gensoku = -1) [
Kasoku_P = Kasoku:
return Hyoji

i ((Kasoku = 1) 88 (Gensoku = 1)) [
return Hyoji

Kasoku_flg = Kasoku - Kasoku_P:
Gensoku_flg = Gensoku — Gensoku_P
if (Kasoku_flg = 1) {
Hyoji = 1
) else
if Geonsoku_flg = 1) |
return Hyoji
1
1
i ((yoji = 1) && (Kasoku == 0)) [
Hyoji = 0:

i ((Hyoji = -1) 88 (Gensoku = 0)) [
Hyoji = 0:

Kasoku P = Kasoku:
Gensoku_P = Gensoku:

return Hyoji

return Hyoji
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